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* AJBEIR - 6487 £ ILIUF (Y L — X4 —JL 1channel)

*CNNODEZTE -

[FENE]
- BIANA LA (kn)D 3B % kn L FAEEZEL (191:(5,16)= kernel size:5 X5, 7 4 JL X —#4:16)
- 7= v LAY strideld2 £’ 42 L3 D (Average Pooling or Max Pooling )
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1-2. FRIEER (T8 v 7 #030)

mE
HiE
e v kernel size:
P7CNNO § CNN1  CNN2  CNN3  CNN4 CNN5 | CNN6 | CNN7  CNN8 | CNN9 | CNN10  CNN11
1J&H o (kn) (10,6) 106)  (96) 9,6) (7,6) (36) | (116) | (136) (116) | (1L6) | (106)  (10,6) 1 )%‘ H Dk:
28 H O (kn) P16 P (516)  (516)  (516)  (516) (516) | (516) (516)  (516) | (516) | (516)  (516) \ R -
3/HD (kn) i (516) i (516)  (316) (316) (316) (716) | (316) | (316) (316) | (316) | (516)  (516) 7,9,11,13 T117h'Best (IEﬁ‘-Fg)
7=V Tk i Ave i Ave. Ave. Ave. Ave. Ave. Ave. Ave. Ave. Ave. Ave. Max.
TEMEA L BE% Sig. Soft. Sig. Sig. Sig. Sig. Sig. Sig. Soft. Sig. Sig. Sig.
Dropout R - - . ; 025 025 025 - 025 - 3@ HDk:
WATA—SM D 64336 ; 64336 81246 81246 BL054 52654 | 81486 | 81774 81486 | 81486 | 64336 64336 NS WA HERRE A =S
EFUMERR() | 60976 : 60849 56116 55738 48977 - 53024| 60234 530.69| 54196| 62904 64449 = e
TR RI(ms)s | 948 i 946 691 6.86 6.04 - 651 737 651 6.65 978 10.02 2> Ex/ I = 25&3
EAR(%) i 7665: 6938 6211 7238 6589  67.83| 7791| 7064  7074| 7200| 6269 7665
7 4 L2 —#id16 TS Lk
CNN12 CNN13 | CNN14 | CNN15 CNN16 |CNN17 CNN18 CNN19  CNN20 [ CNN21 | CNN22

1J&H D (kn) 116) (1L6) | (116) | (116) (116) | (136)  (96) (116) (16) | (116) | (116) +Q
28 H O (kn) (516)  (716) | (516) | (516) (532) | (516) (516) (716)  (316) | (516) | (5.16) . .
3f@H® (kn) (B16)  (316) | (316) | (316) (332) |(B16) (316) (316) (316) | (516) | (516) Dropout =0.20 CHWTIERENM ET B2
ANt Max. Ave. Ave. Ave. Ave. Ave. Ave. Ave. Ave. Ave. Ave.
TEME(LBE%K Sig. Sig. Sig. Sig. Sig. Sig. Sig. Sig. Sig. Sig. Sig.
Dropout 025 025 020 015 020 020 020 020 020 020 040
BT A— 2% 81,486 81486 | 81,486 | 159950 81,774 |81246 81246 62,670 - 79,950 | 64462
ET VISR (s) 56830 58934 - 53488 66254 [614.87 55915 57337 50576 547.85| 55595
I E BRI (ms) = 697 723 - 334 8.10 757 6.88 9.15 - 6.85 8.62
EZR(%) 7548  7364| 7800 7364 7364 | 7432 6870 7103  7248| 6841 7442 1
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@ kernel size % (10,5,5) > (11,5,3) IC9 5 Z & TIEEE - SHERRM &b ICmE
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2-3. ETILOEE W W \ \/
model.add(Conv2D(6, kernel_size=(11, 11), activation="relu", padding='same', input_shape=(64,64,1))) % % / » \ ;

model.add(AveragePooling2D((2, 2), strides=(2, 2))) # 7—UY/J&E

model.add(Conv2D(16, kernel_size=(5, 5), strides=(1, 1), padding='valid', activation='tanh'))
model.add(AveragePooling2D((2, 2), strides=(2, 2)))

model.add(Conv2D(16, kernel_size=(3, 3), strides=(1, 1), padding='valid',6 activation='tanh'))
model.add(AveragePooling2D((2, 2), strides=(2, 2)))

model.add(Flatten())

model.add(Dense(120, activation='relu'))

model.add(Dropout(0.20))

model.add(BatchNormalization())

model.add(Dense(48, activation='relu'))

model.add(Dense(10, activation='sigmoid')) # HEH=HNFEFH
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CNNO CNN3 CNN2 CNN1 . . S e

TEY) 105 ) o ) kernel size(10,5,5): =T 5 F[EE N, IEARERM] £

2/GE D (kn) (5,16) (5,16) (5,16) (5,16) kernel size(11,5,3): SHEIRSRIFEA, T 1225

3@EH® (kn) (5,16) (5,16) (3,16) (3,16)

Dropout - 0.20 - 0.20

ik s ews  wws o | O UBEOBAKED 7 4 b &Y A XAUNE WA T A
7 LREEERER(s) | 103586 104388 | | 91491 904.87 | . -

FEAFF B R (ms) 16.10 16.23 11.23 11.10 SBFEDY R HAE W

EZ R (%) 78.49 78.59 78.88 78.29

3 & % |ZMax Pooling 9 DrOpOUtL: J: 5 i@i%%ﬁﬁbi\ﬁiﬁ 7(—3 2 7LC ???
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Dt kernel size D2 F > H ) ALY cf. CNN2->CNNLIZEHEICNNASE A L TEAB L A 5727212

kernel size(10,5,5) DropoutZ L kernel size(10,5,5) Dropoutds ') kernel size(11,5,3) DropoutZs: L kernel size(11,5,3) Dropout )
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@50_CNN3 Training and validation loss @50_CNN2 Training and validation loss

e50_CNN1 Training and validation loss
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Dropout & [3?DE % .

[ [Za2a—F %y 7 —2] Dropout( FA v 777 MIZDWTF &8 % -Qjita] https://qiita.com/shu_marubo/items/70b20c3a6cl72aaeb8de(2021F6
B17H5R)

[ [Deep Learning) 1% & DropoutlZ 2 LT -sonickun.log| https://sonickun.hatenablog.com/entry/2016/07/18/191656(20214F6 817 H 5 18)

[Dropout(Z & %85 E D%, KerasZ FEH L TEMFZEZ#1TW., E7 77U 45— 3 VICEBRT 3548, LWHITEZF... | by Kazuki Kyakuno | axinc |
Medium |

https://medium.com/axinc/dropout|Z & % i85 % D #N#-be5b9bba7e89(2021F6 A 17 H £ i8)
[Dropout : 74 =77 —=> 7 DAfFIFE. BEiliAAETBFE % < - DeepAge)
https://deepage.net/deep_learning/2016/10/17/deeplearning_dropout.html(20214F6 8 17 H S 18)
DropoutZI & NS % :
[keras®DConv2D (2RTTEMIAIE) (ZDWTHNTHAT: - Qjital https://qiita.com/kenichiro-yamato/items/60affeb7ca9f67¢c87a17 (2021F6 A 170 S 1)
Dropout® 11— F /SR DL E .
[ [KerasdD{E UL AH#ER] Dropout : Conv2D (CNN) DERK - Ak | FH7 0/ 7~ —]

https://child-programmer.com/ai/keras/dropout/ (2021F6 5 17 H S i8)

¥ BatchNomalization|dDropout L [R] LB THWTIZZ=®HH L]

[[1801.05134] Understanding the Disharmony between Dropout and Batch Normalization by Variance Shift] Xiang Li, Shuo Chen, Xiaolin Hu, Jian Yang

https://arxiv.org/abs/1801.05134



